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1. The bar grph shows the mumber ofpush-ups Bony does cach wek fr three weeks. A) 3

Push-ups

s B)8
C)14
D) 27

Weekl Weck2  Weckd  Weekd
Week

I Bonny continues toincrease the number of push-ups she docs each weck by the same amount, how
‘many push-ups il she most likely do in week 47

2. This table shows the amount of time Burt spent driving during each of the last 8 days. A) 37 mlnutes

Xontty & B) 34 minutes
Ty m C) 44 minutes
Friday 37
e ~ D) 43 minutes
Monday 49

‘What s the mode of this data set?

3. Look at the numbers. A) 34
11, 34, 56, 22, 67, 19, 43 B) 36
What is the median of these numbers? C)39

D) 56
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4. The recorded high temperatures for five days in March were 73°F, 56°F, 61°F, 64°F, and 56°F.

‘What is the mean of this data set?

A 61°F
B I7°F
C 56°F
D 62°F

5. The heights of the people in Fernando’s family are 46 inches, 39 inches, 68 inches, 49 inches, and 68
inches. What is the range of their heights?

A 22 inches
B 29 inches

C 54 inches
D 68 inches

6. Lookat the graph.

TREES

828

Height (feet)
3 5

o w

Cherry Apple Maple
Tree

Based on the information in the bar graph, which of these conclusions can be drawn?

A The oak tree is twice as tall as the apple tree.

B The maple tree s 20 feet taller than the apple trce.

€ The apple tree is three times as tall as the cherry tree.

D The oak tree is as tall as the apple and cherry trees combined.
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